

## TITANIUM INVESTMENT PLAN

**1 CRORE** 

#### 7.5% DISCOUNT ON DOWN PAYMENT

Size	Half D/P		No # Plots	Total D/P
3.5 Marla	180,000		15	2,700,000
5 Marla	249,750		14	3,496,500
10 Marla	435	,000	05	2,175,000
1 Kanal	690	,000	02	1,3,800,000
		Total D	iscounted D/P	9,751,500
	File Pi		ocessing Fees	248,500
		Grand Total		10,000,000

Size	D/P	Discou	unt	Total Discounted D/P	Total Discounted D/P
3.5 Marla	360,000	96,00	0	264,000 * 15	3,960,000/-
5 Marla	499,500	133,20	00	366,300 * 14	5,128,200/-
10 Marla	870,000	232,00	00	638,000 * 5	3,190,000/-
1 Kanal	1,380,000	368,0	00	1,012,000 * 2	2,024,000/-
			Tota	l Discounted D/P	14,302,200
			File	Processing Fees	248,500
Total Dovonuo	14 550 7	20		Grand Total	14,550,700

Total Revenue	14,550,700
Total Investment	(10,000,000)
Net Profit	<b>4,550,700</b> (45,5%)

## MONTHLY 170,000

Amount After 12 Months = 12,510,700

Book this package with only 25% (2,500,000) remaining amount within next 15 days



## PLATINUM INVESTMENT PLAN

**50 LACS** 

### 7.5% DISCOUNT ON DOWN PAYMENT

Size	Half D/P		No # Plots	Total D/P
3.5 Marla	180,000		11	1,980,000
5 Marla	249,750		08	1,998,000
10 Marla	435,000		02	870,000
		Total D	iscounted D/P	4,848,000
		File Processing Fees		152,000
		Grand Total		5,000,000

Size	D/P	Discou	nt	Total Discounted D/P	Total Discounted D/P
3.5 Marla	360,000	108,00	0	252,000 * 11	2,772,000
5 Marla	499,500	149,85	0	349,650* 08	2,797,200
10 Marla	870,000	261,000	)	60,9000* 2	1,218,000
			Tota	l Amount	6,787,200
			File F	Processing Fee	152,000
			Gran	nd Total	6,939,200

Net Profit	<b>1,939,200</b> (38.78%)
Total Investment	5,000,000
Total Revenue	6,939,200

## MONTHLY 80,000

Amount After 12 Months = 5979200

Book this package with only 25% (1,250,000) remaining amount within next 15 days

www.galaxyenclave.com



## GOLDEN INVESTMENT PLAN

25 Lacs

#### 7.5% DISCOUNT ON DOWN PAYMENT

Size	Half D/P		No # Plots	Total D/P
3.5 Marla	180,000		07	1,260,000
5 Marla	249,750		03	749,250
10 Marla	435,000		01	435,000
	Total D		iscounted D/P	2,444,250
		File Pr	ocessing Fees	55,750
		Grand Total		2,500,000

Size	D/P	Discou	nt	Total Discounted D/P	Total Discounted D/P
3.5 Marla	360,000	120,00	0	240,000 * 7	1,680,000
5 Marla	499,500	166,50	0	333,000 * 3	999,000
10 Marla	870,000	290,00	0	580,000 * 7	580,000
			Tota	l Discounted D/P	3,259,000
			File	Processing Fees	55,750
				Grand Total	3,314,750

Total Investment Net Profit	(2,500,000) <b>814,750</b>
Total Revenue	3,314,750

## MONTHLY 33,000

Amount After 12 Months = 2,918,750

Book this package with only 25% (625,000) remaining amount within next 15 days





# SILVER INVESTMENT PLAN

10 Lacs

#### 7.5% DISCOUNT ON DOWN PAYMENT

Size	Half D/P		No # Plots	Total D/P
3.5 Marla	180,000		04	720,000
5 Marla	249,750		01	249,750
		Total D	iscounted D/P	969,750
			viscounted D/P rocessing Fees	969,750 30,250

Size	D/P	Discount	Total Discounted D/P	Total Discounted D/P
3.5 Marla	360,000	132,000	228,000 * 04	912,000
5 Marla	499,500	183,150	316,350 * 01	316,350
		Tota	al Discounted D/P	1,228,350
		File	Processing Fees	30,250
			Grand Total	1,258,600

Net Profit	<b>258,600</b> (25.8%)
Total Investment	1,000,000
Total Revenue	1,258,600

### MONTHLY 11,000

Amount After 12 Months = 1,126,600

Book this package with only 25% (250,000) remaining amount within next 15 days